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CORSI0RT the system shown below-
-t - D
pann . iy —_— Hie?) —
. A/D comverter s .
X80 S L )
) (25 points)
mpse res § ; I o . -7 = e e
SIPSS response of the digital fiter i h[n] = 0.48[n] + 0.85[n — 1] + 0.45]n — 2]. Assume that the filter is
TS weth 16-hit C‘e: Doin {”..3‘-: » ) } : :- ﬁ"-‘.’ ,,C,{J’-:S are rOLr‘p‘c.d to 16—
e, znalyse this system.
2], Determine ccur in the implementing the
== d Siter
i) e S At Tl = & o = . ) ._ B
2} Draw 2 detalied finear noise modsl for the complete system (induding the A/D converter).
2) Detmrmime the e

o o . . ) ) ol
ozl noise power at the output g7 . (You can express the res <ult in terms of GE)
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y NS e A

Consig
erthe two
Systems . Ut <V :
Aand B shown below, each of which is a two-input, two-output system.

W) L+r o

nilnl x )

A S 0 -
bl M -r ST S
- w:
System A
(a) Determine the difference equation for System A. (20 points)

(b) Determine the value

L sof e and ffor System B in terms of r such that the twa systems are equivalent.
{c) Which implementati

On structure might be preferred? Give justification for your answer.
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InsSidar tha falta. i . o
SESF e following pole-zero plots of three digital filters:
(25 points)
- Bt
1 e, ! \“:-\:__
18- ) g e . Q 5% \}.‘\\\
e h ' o T ; R
| . : W
: ; N ¥
- Te 3 n{;\ § \s';‘
E | o § : Y
F oo t g n 2
1 e e - g Ly L ) 5\\
| SE | P 1 : N
2a I = % ; &
sk \Q b \.“
e | 1 \© ! &
. i oN® . : a2
et s . ; \_\.:‘\\S Gl \‘“’\,c“
k- S B g |I‘ e g }bo
< <1 [ Qs r t ] Q% Q ey A\
Sen Spr Readd ot
Ntl:.‘
==X e
- a5~ i Ts.
* - aal i ~
@ H’{’g Poles emly af 2:0 L e o
i T~ & \
| S Mo whent gla€. 5 aal
s \.-<;> ’.l
. i ;
= ). Fi \/ ¥ Seed e s
- 1 =\ - RS 5
H,0),w @ n&/ o
2l ; ]
i Qe ' < : e
i — _"_ T __‘:7 T ¥
! - s Q s 1
{ ‘(; N Reai Fart ©
\_/ For ezach of the three filters, determine the following:

o (2) Fkeris FIR or UR, (b) Filter order,

() Filteris !ow-pass (LP), high-pass (HP), band-pass (BP), or band-stop (BS), and
(d) Approximate cutoff or edge frequencies for each filter. Brief explanation is required for full credit.
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